2011 BHCSI Introduction to Java 

Test #2 (100 points)

7/22/11

Name : Solution
(Note: Assume that java.util.* is imported for all programs.)

1) (15 pts) Complete the program below so that it reads in the average speed of a biker (in meters/sec) and the length of the biker's journey (in kilometers) and outputs the amount of time the biker's journey will take. Declare any extra variables you might need. Output a statement of the form: Your journey will take X hours. X will be the appropriate double.
public class Bike {

  public static void main(String[] args) {

    Scanner scan = new Scanner(System.in);

    double speed, length;

    System.out.println("What is your speed in m/s?");

    speed = scan.nextDouble(); (2 pts)
    System.out.println("How long is your journey in km?");

    length = scan.nextDouble(); (2 pts)
// Length is in kilometers, speed is in meters, so convert

    double time_in_seconds = length*1000.0/speed; (4 pts)
// There are 3600 seconds in an hour.

    double time_in_hours = time_in_seconds/3600.0; (4 pts)

System.out.println(“Your journey will take “ + time_in_hours + “ hours.”); (3 pts)
  }

}

2) (8 pts) What are the values of the following arithmetic expressions?


a) (17 – 19%(2+3)*3 + 17/6)/2 = (17-19%(5)*3 + 17/6)/2 = (17-4*3 + 17/6)/2 = (17-12 +2)/2 = 7/2 = 3
 (4 pts)

b) 3.0/(17 – 2*5 – (7 – 6)%12)= 3.0/(17 – 2*5 – (1) %12) = 3.0/(17 – 10 -1)=3.0/(6)=0.5 (4 pts)
3) (20 pts) Complete the program below so that it correctly determines whether or not a desk will fit in a room, given the dimensions of both the desk and the room. In your calculation, ignore the height of the room and the desk. Furthermore, assume that you must place the desk in the room so that its sides are parallel to the sides of the room. (Thus, a desk with the dimensions 3' x 8' will fit in a room with the dimensions 10' x 5' since 3 ≤ 5 and 8 ≤ 10. But a desk with the dimensions 3' x 8' won't fit in a room with the dimensions 7' x 7', since it's too long.) Print out one of the two following messages: "The desk will fit." or  "The desk will NOT fit."
public class Room {

  public static void main(String[] args) {

    Scanner stdin = new Scanner(System.in);

    int roomlen, roomwid, desklen, deskwid;

    System.out.println("What is room length and width?");

    roomlen = stdin.nextInt();

    roomwid = stdin.nextInt();

    System.out.println("What is desk length and width?");

    desklen = stdin.nextInt();

    deskwid = stdin.nextInt();


// We check to see if both the length and the width 

// fit. We also check to see if the desk will fit 

// rotated the other way.
Grading: 3 pts per condition

    if(((desklen <= roomlen) && (deskwid <= roomwid)) ||


  ((desklen <= roomwid) && (deskwid <= roomlen)))


{



System.out.println(“The desk will fit.”); (4 pts)

}


else


{



System.out.println(“The desck will NOT fit.”);


}
(4 pts)
  }

}
4) (25 pts) Complete the program below so that it asks the user for a positive integer, and then prints out all multiples of that integer less than 100000, except for numbers that end in 0. (For example, if the user entered 6, then the first five numbers your program would print would be 6, 12, 18, 24, and 36. 30 is skipped because it ends in 0.) Declare any extra variables you might need.
public class Multiples {

  public static void main(String[] args) {

    Scanner stdin = new Scanner(System.in);

    int n;

    System.out.println("Enter your integer.");

    n = stdin.nextInt();

    int multiple = n; (5 pts)
    while (multiple < 100000) (5 pts)

{



if (multiple % 10 != 0) (5 pts)


{




System.out.println(multiple); (5 pts)


}



multiple += n; (5 pts)

}
  }

}

5) (10 pts) Write a Java statement that utilizes math class methods that is executes the following mathematical formula: 
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. Assume that the variables x, y and z are already declared and write a single assignment statement that sets the value of x according to the formula above.

x = Math.sqrt(Math.pow(y,10) – (2*z))/z 

Grading: 2 pts each call, 2 pts each param, 2 pts divide
6) (12 pts) What is the output of the following segment of code? (Hint: Pages 132-3 of your text has a listing of String methods.)
String one = "Hello";

String two = "Bye";

String three = one + two;

String four = one.substring(2);

String five = one.replace('l', 'k');

five = five.replace('H', 'G');

String six = two.toLowerCase();

System.out.println(one+" "+two);

System.out.println(three+" "+four);

System.out.println(five+" "+six);

Hello Bye
(4 pts)
HelloBye llo (4 pts)
Gekko bye
(4 pts)
7) (5 pts) What is the output of the following program?

public class Q7 {

  public static void main(String[] args) {

    int a=3, b=7;

    swap(a,b);

    System.out.println("a = "+a+", b = "+b);

  }

  public static void swap(int x, int y) {

    x = y;

    y = x;

  }

}

a = 3, b = 7 (Give 3 pts for 7,7, 2 pts for 3,3,


    Give 1 pt for 7,3, 0 otherwise)
8) (5 pts) In which town/city is the "Winter Park Village" movie theater located?


Winter Park

_1246370989.unknown

